Hoeveel mol bevatten volgende hoeveelheden materie:

a) 100 moleculen water e) 10,0 mg NO3

b) 100,0 g water f) 1,5-1016 moleculen BF;
¢) 500,0 g Fe g) 2,6 mg NaCl

d) 150,0 g Fe,03 h) 26,6 g C12H22012
Oplossing

a) 100 moleculen water

_ 100 = 1,66-10'22 mol water
6,02-10%3
mol

b) 100,0 g water
10009 = 5,56 mol water
18,0 9

mol
¢) 500,0 g Fe
20009 = 8,952 mol Fe
55,859

mol
d) 150,0 g Fe203
150,0 g _ 150,04

= 0,9393 mol Fe;03
(2-55,85+3-16,0)- 9 159,79
mol mol

e) 10,0 mg NO2
100103 g _10,0-103 g

=2,17-10~* mol NO,
(14,0+2-16,0)-2 46,0

mol ol
f) 1,5-10% moleculen BF3
16
LIOB = 2,5-108 mol BF;
6,02-10
mol

g) 2,6 mg NaCl

26-103g _26-103 ¢

(23,0+35,5-2 58,5
mol

mol
h) 26,6 g C12H22012
26,6 g _ 266g

(12-12,04+22.1,0+12-16,0)—2- 358,02
mol mol

= 4,410~ mol NaCl

=74,3- 10_3 mol C12H22012




